et
Certsgrade

UNLOCK YOUR POTENTIAL

Oracle
170-1072-24

| nfrastructur e 2024 Architect Associate

Questions And Answers PDF Format:

For More Information — Visit link below:
https://www.certsgrade.com/

Yersion = Product

Vigit us at: https://www.certsgrade.com/pdf/1z0-1072-24


https://www.certsgrade.com/�

Latest Version: 6.0

Which statement is TRUE about restoring a volume from a block volume backup in the Oracle
Cloud Infrastructure (OCl) Block Volume service?

A. You can restore a volume from any full volume backup but not from an incremental backup.
B. You can restore a block volume backup to a larger volume size.

C. You can restore only one volume from a manual block volume backup.

D. You can only restore a volume to the same availability domain in which the original block
volume resides.

Answer: B

Which TWO are key benefits of setting up Site-to-Site VPN on Oracle Cloud Infrastructure (OCl)?

A. When setting up Site-to-Site VPN, customers can expect bandwidth above 2 Gbps.

B. When setting up Site-to-Site VPN, customers can configure it to use static or dynamic routing
(BGP).

C. When setting up Site-to-Site VPN, OCI provisions redundant VPN tunnels.

D. When setting up Site-to-Site VPN, it creates a private connection that provides consistent
network experience.

Answer: B, C

What is the primary function of the Network Path Analyzer (NPA) tool provided by Oracle Cloud
Infrastructure (OCI)?

A. Collecting and analyzing network configuration to identify virtual network configuration
issues impacting connectivity

B. Optimizing network performance by dynamically adjusting routing paths based on traffic
patterns
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C. Sending actual traffic between source and destination to diagnose connectivity issues
D. Providing real-time monitoring of network traffic to detect security threats and unauthorized
access attempts

Answer: A

You can attach resources to a Dynamic Routing Gateway (DRG). Select THREE of these resources.

A. Virtual Circuits

B. Subnet

C. VNIC

D. Remote Peering Connections
E. IPSec Tunnel

F. Local Peering Connection

Answer: A,D, E

With OClI's pricing of $0.0085 USD per Gigabyte for Outbound Data Transfer in North America,
how much will they spend per month for 7 Petabytes of Outbound Data Transfer?

A. $59,500.00

B. $59,415.00

C. $0.00 (free with OCl)
D. $150,000.00

Answer: A
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